Algebra I Name: K‘c\‘

Unit 4 Test 2 Review Date: Period:
Remember to study your notes and old homework. Show all work to receive credit!!

1. Which of the following graphs best represents the solution to the followin (1% system of equations?

Sole bow\ﬁ)rq‘ Dray=s Seml

@x-y=-1 @

2. A boy has seven more nickels than quarters. The total value of the coins is $4.90. Which system could
be used to find how many nickels and quarters he has?

®q LeX nbevnagels- - 09
0.05n +0.25q = 4.90 LeA % De GBME)'H"Q"S- . 9,6
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8.05n+0.25q=4.90 V\ - ?’ -‘— %

s =7 06N +.204=4-90
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3. Adam has a savings account in which he is investing some money each month. He has another account
with $7,600 in which he is withdrawing some money each month. This information is shown in the

graph below.
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After how many months will the two accounts have the same amount of money?

| A 15 months ‘ )(
5200 months

C 1000 months

D 16 months

4, The following graph shows the solution to a system of equations.
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Which system of equations is best represented by the graph above?

X y=2x+3
y=06x+3
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5. Look at the inequalities below. 23 shade VP doﬂtd > 44
ye-+o Shde ve Solid |2 | =

Which graph best represents this system of inequalities?

6. A jar containing only nickels and dimes contains a total of 18 coins. The value of all the coins in the jar
is $1.40. How many nickels and dimes are in the jar? “\CV'C\S . 09
| dimes: |0
10 nickels and 10 dimes - W0¢ £ Yvian \§
8 nickels and 10 dimes «~ $|.q 0

H 3 nickels and 15 dimes
)( 12 nickels and 4 dimes - |£$$Ynan \8!

7. A local movie theater charges 46 for each adult ticket and M”for each child ticket. If the theater sold a
total of 150 adult and child tickets for a total of $806, what is a reasonable conclusion for this situation?

et a be adultthdtts

)& The same number of adult tickets sold as child tickets.

There are more child tickets than adult tickets V\l ‘h .ef-s-
C.) There were 100 adult tickets Le*— ¢ b'e ¢ Id Cz
. There were 100 child tickets —
EatHC~ 500
at+c = 190
100adu \¥

o 4] 7(B] ovvids



«hich system of equations is best represented by the tables below? Cav) \ASMI

Line 1 Line 2 Linpeﬂ
0 x y | x y
""“: -6 13 ?a‘p -6 -5
-2 7 ~_ky -2 -4
12— AN 0 3 0K
4 -11 4 -1
anéweér
. i
A y=3x+1 C. y=3x-1 (W\O( b\ef
y=—%x—3 y=—%x—3 cV\QC,t‘\'a
B. y=-3x+1 D. y=-3x+3
y=1x—3 y=—%x—1

2

9. The perimeter of Jenny’s rectangular living room is 60 feet. The width@G less than 2 times its length.

What are the length and width of the garden? L . =
L L be \thath | w  Zhr2we L'O.U
vl w e widvrh VY"ZL

X" The length of the garden is 20 ft., and the width is 10 ft. =£E = 2=

The length of the garden is 18 ft., and the widthis 12 ft. 72 +2w =0 2 2
The length of the garden is 12 ft., and the widthisB ft. ~ _ ) + \\, = -

D The length of the garden is 25 ft., and the width is 11 ft. (‘ Zl | 8
10. How many solutions does the following system 11. What is the x-coordinate of the solution to the
have? SDW{ ‘ﬁ)r \{ . |00\¢ @gfaph system of linear equations below?

y‘=4x+7 3x+3y =6
5x -3y =12 6x +2y =20
~SX =SX 2 3 -]

One Solution —?—\1 - —?_—)S“' = @X == 3 b_]
5. Two Solutions 3 ; 3 < i— 42 v 2 20
C. Infinite Solutions S 2Z¢-Y m U5 = il )
D. No Solutions Y 2 D. x=2 (L( 0 Z

- wmv St wb Ylt—'ﬂ)(
12. Which of the following js a solutron"’t’o tl"r‘“ 13. Solve the following system of equations.

system of inequalities listed below? \ ; - dTﬁACE
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14. The tables below represent values that correspond to a system of equations. What is the solution to this

system of equations? Wh\ OV] p[)i n*
Line A Line B QPPEDVS twice?
X Y X Y B. (0, 0.5)
s 05| (4 o) c. 2-2)
S T S D. (4, 1)
<-4 0 ) 2 4
- — ]
0 0.5 0 3
4 1 4 16

Use the graph to answer the following question.
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15. Which of the following do @accurately describe a solution to the system of inequalities?

i (-2, 1) & S'D\Mﬁ onNsSWnot on dO""Ied ”/LQ
I (-1, -1)

m. (-1,-2)v

IV. (-4, 0)

V. (1,-2& not on do-H—-col

I only

V only

II and III
I, IVand V
I, Il and III

moowy



